e

. -

Q +902165083786 R info@parsrot.com



Leading

Manufacturer
Company

WHY PARS STEERING
SUSPENSION PARTS

1. Having an understanding that maximizes customer satisfaction.
2. 32 years of experience on automotive spare parts industry.
3. Certificate of IS0 9001:2015

4. Factory is next to biggest port, Logistic Companies and Air Cargo
in Istanbul, Turkey

5. High-Tech Machinery, and High-Sustainable Quality
6. Just in time production with scheduled producing program.
7. Competitive and reasonable prices.

8. Fast Costum Regulations.

9. Customer-oriented operating system

0

Ferhatpaga Mahallesi 38. Sokak No: 91
Atasehir/ISTANBUL, Tiirkiye

e +90216 661 26 19

Q) +90216 661 2619

ABOUT COMPANY

As a leading manufacturer, PARS ROT VE ROTIL company has been
producing high qualified steering and suspension spare parts

for passenger cars and light commercial vehicles, it has been founded
in 1989 and it has supplied acceleration to the sector with the
improving institutional structure and fast growing producing power

that it has.

Over 5 million items annual producing capacity and 7 thousand
product range, and with over 200 employees places

PARS ROT VE ROTIL to the position of leadership within the sector in
national and also international improving markets.

As one of the varied range steering and suspension parts manufacturer
in the world,

production and assembling facilities of PARS ROT VE ROTIL contains
operations of the following product lines in steering and suspension

group for the aftermarket, stabilizer links, tie rod ends, axial joints,

ball joints, bushings.

PARS ROT VE ROTIL, is certified under ISO 9001-2015 quality
management systems and the products are precisely assembled in our
assembly lines and further, are made ready for packing upon

final control.

www.parsrot.com
info@parsrot.com




* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 3 info@parsrot.com




A
&’Lana’ HONDA

ACCORD I-11-111 1976-1990

HO-12101 HO-16314

Tie Rod End Suspension Control Arm and Ball Joint
Assembly
Front
M12x1,25Rht Front Right Upper
Upper
53540679004
51459SE0000
HO-16315
Suspension Control Arm and Ball Joint
Assembly
Front Left Upper
Upper
51469SE0000
ACCORD v 1990-1993

HO-13304 HO-12301
Axial Joint Tie Rod End

Front Front Right
Only:2.0i/2.216V M14x1,5-L=139mm M14x1,5Rht

GSv1211 GSJ408

HO-12302 HO-11303

Tie Rod End Ball Joint

Front Left Front Lower
M14xT.5RNt  542205M4013
GSJ407

HO-11305 HO-16325

Ball Joint Suspension Control Arm and Ball Joint

Assembly
Front Lower

Front Right Upper
51270SM4A04 9 PP

51450SM4A02

HO-16326 HO-20252

Suspension Control Arm and Ball Joint Control Arm Bushing
Assembly

Upper

Front Left Upper
51455SR3003

51460SM4A02

HO-20236 HO-20244

Control Arm Bushing Control Arm Bushing _—

Lower Center Rear

51810SM4013 RBX100431

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 4 info@parsrot.com



Rot sy

mw Land HONDA
ACCORD v 1990-1993
|
HO-19306 HO-19307
— Lateral Arm Lateral Arm =
Rear Right Upper Rear Left Upper
52390SM5A03 52400SM5A03
HO-11213
Ball Joint
Front Upper
51220S84A02
ACCORD \'} 1993-1998
|
HO-16335 HO-19307
Suspension Control Arm and Ball Joint Lateral Arm
Assembly
Rear Left Upper
Front Right Upper
52400SM5A03
GSJ424
HO-19306 HO-11313
Lateral Arm Ball Joint
Rear Right Upper Front Upper
52390SM5A03 51270SR3023
HO-16336 HO-20236
Suspension Control Arm and Ball Joint Control Arm Bushing
Assembly
Lower Center
Front Left Upper
51810SM4013
GSJ423
HO-20235 HO-11303
Control Arm Bushing Ball Joint

Rear Lower Front Lower
51393SN7003 51220SM4013
HO-12302 HO-12301
Tie Rod End Tie Rod End

Front Left Front Right
M14x1,5Rht M14x1,5Rht
GSJ407 GSJ408

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

5

info@parsrot.com



—
sy L and

HONDA

ACCORD

ACCORD

1993-1998

HO-13333 HO-13304
Axial Joint Axial Joint
Front Inner Front %
M14x1,5-L=148mm Only:2.0i/2.216V M14x1,5-L=139mm
53010SV4000 GSV1211
1998-2002
HO-16343 HO-16344
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
Front Right Upper Front Left Upper
(JapanAccord) (JapanAccord)
51450S84A01 51460S84A01
HO-14349 HO-14350
Stabilizer Link Stabilizer Link
Front Right Front Left
L=72mm L=72mm
51320S84A01 51321S84A01
HO-12301 HO-12302
Tie Rod End Tie Rod End
Front Right Front Left
M14x1,5Rht M14x1,5Rht
GSJ408 GSJ407
HO-11303 HO-20235
Ball Joint Control Arm Bushing
Front Lower Rear Lower
51220SM4013 51393SN7003
HO-20236 HO-13363
Control Arm Bushing Axial Joint
Lower Center Front
51810SM4013 53010S84A01
HO-16345 HO-16346
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly

Front Right Upper
51450S1AE01

Front Left Upper
51460S1AE01

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

= Land HONDA
]
ACCORD Vi 1998-2002

. |

HO-16345N HO-16346N

P~ Suspension Control Arm Suspension Control Arm o~
' Front Right Upper Front Left Upper
51450S1AEO01 51460S1AE01

HO-11213 HO-14358

Ball Joint Stabilizer Link

Front Upper Rear Right
51220S84A02 52320S84A01

HO-14359 HO-20604
Stabilizer Link Control Arm Bushing

|
-
. s Rear Left Upper
52325S84A01 51460S1AEO01

ACCORD Vii 2003-2008

HO-20638 HO-20636

Control Arm Bushing Control Arm Bushing
Rear Lower Lower Center

51220SDAA02 51220SDAA02

HO-20637 HO-20643

Control Arm Bushing Control Arm Bushing
Front Lower Upper

51220SDAA02 51510TAOA03

HO-14359 HO-14358
Stabilizer Link Stabilizer Link
Rear Left Rear Right
52325S84A01 52320S84A01

HO-11213 HO-13353
Ball Joint Axial Joint
Front Upper Front
51220S84A02 53010SDAA01

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 7 info@parsrot.com



Rot sy

mw Land HONDA
ACCORD Vil 2003-2008
AC-14126 HO-16357
— Stabilizer Link Suspension Control Arm and Ball Joint
Assembly
Front Right
Front Left Upper
51320SEDO013
51460SDAA01
HO-14360 HO-14361
Stabilizer Link Stabilizer Link
Front Right Front Left
51320TAOA01 51325TAOA01
HO-12352 HO-16356
Tie Rod End Suspension Control Arm and Ball Joint
Assembly
Front Left
Front Right Upper
53560SDAA01
51450SDAA01
HO-11545 AC-14127
Ball Joint Stabilizer Link —
Front Lower Front Left
51220SDA305 51321SED013
HO-12351 HO-16354
- Tie Rod End Suspension Control Arm
- FrontRight  Front Right
— ﬁ ront Rig ront Rig
53540SDAA01 51350SEAA01
3 HO-16355 HO-18400
Suspension Control Arm Suspension Control Arm Repair Kit
Front Left Front
51360SEAA01 K500081
|
HO-14366 HO-14367
Stabilizer Link Stabilizer Link
Rear Right Rear Left
52320SFYJ01 52325SFYJ01

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

8

info@parsrot.com



Rot sy

= Land HONDA
]
ACCORD Vil 2008-2012

HO-16388 HO-16389

Front Upper

Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
Front Right Upper Front Left Upper
51510TAOA03 51520TAOA03
HO-11365 HO-11380
Ball Joint Ball Joint

Front Lower

51270501013 51220TAOA02
AC-19115 AC-19114
Lateral Arm Lateral Arm
Rear Left Rear Right
52345TA0A00 52340TAOA00
HO-14361 HO-14360
Stabilizer Link Stabilizer Link
Front Left Front Right
51325TA0A01 51320TA0A01
HO-14386 HO-14387
Stabilizer Link Stabilizer Link
Rear Right Rear Left
52320TA0A01 52325TA0A01
HO-13383 HO-12382
Axial Joint Tie Rod End
Front Front Left
M14X1,5-L=131mm 53560TA0AO1
53610TL1GO1
HO-12381 HO-16385
Tie Rod End Suspension Control Arm
Front Right Front Left Lower
53540TA0A01 51360TE1A00

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

= [and HONDA
ACCORD Vil 2008-2012

HO-16384 HO-20643

s Suspension Control Arm Control Arm Bushing
Front Right Lower Upper
51350TE1A00 51510TAOA03

]

HO-20637 HO-20636

Control Arm Bushing
Front Lower

51220SDAA02

Control Arm Bushing
Lower Center
51220SDAA02

HO-20638

Control Arm Bushing
Rear Lower

51220SDAA02

HO-20610

Control Arm Bushing

Front Right Lower Inner

HO-20609

Control Arm Bushing

Front Outer

51360SAAEOQ1 51360SAAEO01
HO-13503 HO-13504
Axial Joint Axial Joint
ﬁ# Front Right Inner Front Left Inner
M12x1,25Rht-L=211mm M12x1,25Rht-L=211mm
53010SEL003 53011SEL003
— HO-13513 HO-12501
Axial Joint Tie Rod End
d——m 1= Front Front Right
TRWSteering M12x1,25-L=302mm M12x1,25Rht
53510SX8N01 53540SELTO1
— HO-12502 HO-16507N
Tie Rod End Suspension Control Arm
h — Front Left Front Left Lower
M12x1,.25Rht 51360SELTO1
53560SELTO1

2002-2007

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 10 info@parsrot.com



—
sy L and

HONDA

2002-2007

HO-11505
Ball Joint

Front Lower

HO-16506

Suspension Control Arm and Ball Joint
Assembly

Front Right Lower

Y

51220SELTO1
51350SELTO1
HO-16507 HO-16506N
Suspension Control Arm and Ball Joint Suspension Control Arm
Assembly
Front Right Lower
Front Left Lower
51350SELTO1
51360SELTO1
I-1l 1983-2003
| |
HO-13403 HO-12401 -
Axial Joint Tie Rod End
———ae Front Front
L=308mm/M12x1,25 M12x1,25
E z
“‘hﬁ:"
CIVIC | 1983-1987
| |
HO-12101
Tie Rod End
Front
M12x1,25Rht
53540679004
CIVIC v 1987-1992
| |
HO-13204 HO-13206
Axial Joint Axial Joint
qﬂ Front Inner Front Inner M
M14x1,5-L=157mm M14x1,5-L=200mm
53521SH3003 53010S10003
| |
HO-20275 HO-12201
— Control Arm Bushing Tie Rod End
Lower Front Right
51455SH3005 53540SH3013

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

11 info@parsrot.com



—
sy L and

HONDA
1987-1992

HO-16226 HO-16225
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint .
Assembly Assembly
Front Left Upper Front Right Upper
Upper Upper —
51460SK7043 51540SH3020
HO-11203 HO-12202
Ball Joint Tie Rod End
Front Lower Front Left i
51220SF1000 53560SH3013
HO-20238
N Control Arm Bushing
\ Lower Center
51810SH3004
civic 2012-2016
HO-14457 HO-14456
Stabilizer Link Stabilizer Link
Front Left Front Right
51320TROA01 51321TROAO1
HO-13453 HO-14269
Axial Joint Stabilizer Link
Front Rear Right
53010TROAO1 52320SNAA01
HO-14270 HO-12111
Stabilizer Link Tie Rod End
Rear Left Front Right
L=75mm M14x1,5
52321SNAA01 53540TROA02
HO-12112 HO-11450
Tie Rod End Ball Joint
Front Left Front Lower
M1915  51220TROAOT
53560TROA02

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



—
sy L and

CIVIC

IX

HONDA
2012-2016

HO-16458

Suspension Control Arm and Ball Joint

Assembly
Front Left Lower

51360TR7A51

HO-16459

Suspension Control Arm and Ball Joint

Assembly
Front Right Lower
51350TR7A51

HO-16458N

Suspension Control Arm

Front Left Lower

HO-16459N

Suspension Control Arm

Front Right Lower

1992-1996

51350TR7A11 51350TR7A01
HO-20847 HO-13123
— Control Arm Bushing Axial Joint
Lower Front
51360TR7A11 onlyHBversion M14x1,5
53010TVOEO1
HO-12121 HO-12122
Tie Rod End Tie Rod End
Front Right Front Left
M14x1,5 M14x1,5
53540TV0G02 53560TV0G02
— HO-11125 HO-14120
Ball Joint Stabilizer Link
Front Lower Front
51220TvoEDT ~ AT348MM
51320TVOEO1
CIvVIC \
HO-14245 HO-13212
Stabilizer Link Axial Joint
Front Front
51320504003 M14x1,5-L=166mm
53010S04000
HO-12201 HO-12202
Tie Rod End Tie Rod End
s Front Right Front Left
53540SH3013 53560SH3013

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

—

parsrot.com

13

info@parsrot.com



Rot sy

mw Land HONDA
CiviC 1992-1996
HO-19215 HO-16235
o Lateral Arm Suspension Control Arm and Ball Joint
Assembly $=
Rear Right Upper
Front Right Upper
52390SR3000 e
51450SR3A02
HO-19216 HO-16236
Lateral Arm Suspension Control Arm and Ball Joint
Assembly !
Rear Left Upper
Front Left Upper
52400SR3000 T
51460SR3A02
HO-20238 HO-20237
N Control Arm Bushing Control Arm Bushing
! Lower Center Lower Rear
51810SH3004 RBX100670
HO-19216 HO-19215
Lateral Arm Lateral Arm
Rear Left Upper Rear Right Upper
52400SR3000 52390SR3000
HO-12202 HO-12201
Tie Rod End Tie Rod End
Front Left Front Right
53560SH3013 53540SH3013
HO-14209 HO-13212
Stabilizer Link Axial Joint
Front Front
51320SE4003 M14x1,5-L=166mm
53010S04000
HO-14245 HO-13214
Stabilizer Link Axial Joint
Front Front
51320504003 Only:EuroCivic M14x1,5L=163mm

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

= [and HONDA
CIVIC 1996-2001
HO-14210 HO-14211
Stabilizer Link Stabilizer Link
Rear Right Rear Left
L=90mm L=90mm
52320S04003 52321S04003
|
HO-11135 HO-16237
Ball Joint Suspension Control Arm and Ball Joint
Assembly
Front Lower
Front Right Upper
51220S04003 Upper
51450S04023
HO-16238 HO-16239
Suspension Control Arm and Ball Joint Suspension Control Arm
Assembly
Front Right Lower
Front Left Upper
Upper 51350S01000
51460S04023
HO-16240 HO-20305
Suspension Control Arm Control Arm Bushing ——
Front Left Lower Upper
51360S01000 51460S04013
HO-20374 HO-20375

P~ Control Arm Bushing

Control Arm Bushing P

Lower Rear Lower
51350S01000 51810S04003
HO-20669
Control Arm Bushing
Rear
51391S04005
CIVIC 2001-2005
| |
HO-23255 HO-16258
P Steering Tie Rod Assembly Suspension Control Arm
. Front Front Right
53541S5A000 51350S6DR0O0

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

= [and HONDA
CIVIC Vil 2001-2005
|
HO-16259 HO-16480
Suspension Control Arm Suspension Control Arm —
Front Left Front Right Lower
51360S6DR10 51350S5TZ00
]
HO-16481 HO-16482

Suspension Control Arm

Front Left Lower

Suspension Control Arm

Front Right Lower

51360S5TZ00 51350S6FE01
HO-16483 HO-12254
—_— Suspension Control Arm Tie Rod End
Front Left Lower Front
51360S6FEO1 53541S5A003
HO-13256 HO-14250
Axial Joint Stabilizer Link
-—lp Front Front Right
53521S5A003 51320S5A003
HO-14251 HO-14253
Stabilizer Link Stabilizer Link
Front Left Rear Left
51321S5A003  L=725mm
52321S5TJ01
HO-14252 HO-11257
Stabilizer Link Ball Joint
Rear Right Front Lower
L=72,5mm  5122055A003
52320S5TJ01
CIvVIC VIl
|
HO-14270 HO-14277
— Stabilizer Link Stabilizer Link
Rear Left Front Left
L=75mm 54321 SNAAO2
52321SNAA01

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

£

-

\

2006-2012

parsrot.com

16

info@parsrot.com



Rot sy

= Land HONDA
CiviC VIl 2006-2012
HO-14276 HO-14269
Stabilizer Link Stabilizer Link
Front Right Rear Right
51320SNAA02 52320SNAA01
|
HO-16279N HO-16278N

Suspension Control Arm

Front Left Lower

Suspension Control Arm

Front Right Lower

Front Left Lower

51360SNAA03 51350SNAA03
HO-16279 HO-16278
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
Front Left Lower Front Right Lower
51360SNAAO3 51350SNAA03
HO-11275 HO-11274
Ball Joint Ball Joint

Front Right Lower

51230SNAA02 51220SNAA02
HO-13273 HO-13292
Axial Joint Axial Joint
Front Right
M14x1,5-L=174mm M14X1,5-L=208mm
53610SNBJO1 53011SMGEO01
HO-13293 HO-12111
Axial Joint Tie Rod End
Left Front Right
M14X1,5-L=208mm M14x1,5
53010SMGEO01 53540TROA02
HO-12112 HO-12271
Tie Rod End Tie Rod End
Front Left Front Right e
M14x1,5 M14x1,5 .
53560TROA02 53540SNEAO1

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

mw Land HONDA
CIvVIiC VIl 2006-2012
HO-12272 HO-16298
Tie Rod End Suspension Control Arm and Ball Joint
Assembly
Front Left
M14x1,5 Front Right
ALM.
53560SNEA02
51350SMGEQ7
HO-16299 HO-14290
Suspension Control Arm and Ball Joint Stabilizer Link
Assembly
Front
FrontLeft  (Only:1.4i-1.8iHB) L=226mm
ALM.
51320SMGEO01
51360SMGEQ7
HO-20738
N Control Arm Bushing
' 1 Front Outer
51360SNAA03
CIVIC X(FC) 2016 after
|
HO-19468 HO-19469
Lateral Arm Lateral Arm
Rear Upper Rear Lower
52510TBAA0O 52370TBAA0OO
HO-13463 HO-13473
Axial Joint Axial Joint
Front Front
USATYPE EUROTYPE
53521TBAAO1 53521TEAA51
|
HO-12141 HO-12142
Tie Rod End Tie Rod End
Front Right Front Left
53540TBAAO1 53560TBAAO1
HO-11465 HO-11475
Ball Joint Ball Joint
Front Lower Front Lower
COUPE,SEDAN 5-DOOR
6510TBAAOO 51220TEATO1

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

== Land HONDA
CIvIC X(FC) 2016 after
HO-16471 HO-16472
—~ Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint

Assembly Assembly
Front Right Lower Front Left Lower
51350TBAA0O1 51360TBAAO1
HO-16476 HO-16477
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
Front Right Lower Front Left Lower
51350TBAA11 51360TBAA11
HO-16478 HO-16479
= Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
A N Assembly Assembly
Front Right Lower Front Left Lower
51350TBAA11 51360TGGG00
HO-16471N HO-16472N

Suspension Control Arm
Front Right Lower
51350TBAAO1

Suspension Control Arm
Front Left Lower

51360TBAAO1

HO-16476N

Suspension Control Arm

Front Right Lower

HO-16477N

Suspension Control Arm

Front Left Lower

51350TBAA11 51360TBAA11
HO-16479N HO-14466
Suspension Control Arm Stabilizer Link
Front Left Lower Front
51360TGGG00 ALUMINIUMTYPE
51320TBAAO1
HO-14466A HO-14467
Stabilizer Link Stabilizer Link
Front Rear
51320TBAA0T  HiasticType
52320TBAAO1

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

= Land HONDA
CIVIC X(FC) 2016 after
. |

HO-201036 HO-201037

Control Arm Bushing

Front Lower Outer

Control Arm Bushing

Front Lower Inner

51350TBAA11 51350TBAA11
CONCERTO 1989-1995
| |
RO-14202
Stabilizer Link
H Front
L=66mm
EGP1662
CROSSTOUR 2010-2015
| |
HO-14387 HO-14386
Stabilizer Link Stabilizer Link
Rear Left Rear Right
52325TA0A01 52320TAOA01
|
HO-14360 HO-14361
Stabilizer Link Stabilizer Link
Front Right Front Left
51320TAOA01 51325TAOA01
|
HO-11380
Ball Joint
Front Lower
51220TAOA02
| 1995-2002
|
HO-14209 RO-12401
Stabilizer Link Tie Rod End
Front Front Right - {i
51320SE4003 ~ M14x1.5Rnt '
GSJ1169

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

20

info@parsrot.com



Rot sy

== Land HONDA
CR-V 1995-2002
RO-12402 HO-16246
Tie Rod End Suspension Control Arm and Ball Joint
Assembly
Front Left
M14x1,5Rht Front Right Upper
GSJ1170 51450S10020
HO-16247 HO-16248
Suspension Control Arm and Ball Joint Suspension Control Arm
Assembly
Front Right Lower
Front Left Upper
51350S10A00
51460S10020
HO-16249 HO-14207
Suspension Control Arm Stabilizer Link
Front Left Lower Rear Right
51360S10A00  L-=125mm
52320S10003
HO-14208 HO-14245
Stabilizer Link Stabilizer Link
Rear Left Front
L=125mm 54320504003
52321510003
HO-13206
Axial Joint
Front Inner
M14x1,5-L=200mm
53010S10003
2002-2006
HO-19414 HO-19415
Lateral Arm Lateral Arm

Rear Right Lower

Rear Left Lower

52390S9A981 52400S9A981
HO-13413 HO-11410
Axial Joint Ball Joint
Front Front Lower
M14x1,5-L=545mm 51220S9A982
53521S9A003

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

mw Land HONDA
CR-V | 2002-2006
HO-16418 HO-16419
Suspension Control Arm Suspension Control Arm
Front Right Lower Front Left Lower
Lower Lower
51350S9A010 51360S9A010
|
HO-18444 HO-14416
Suspension Control Arm Repair Kit Stabilizer Link
Front Rear Left
k640399 ~ -=90mm
52321S9A003
HO-14417 HO-12254
— Stabilizer Link Tie Rod End
Rear Right Front
L=90mm 5354155003
52320S9A003
HO-14251 HO-14250
Stabilizer Link Stabilizer Link
Front Left Front Right
51321S5A003 51320S5A003
HO-12631 HO-20704
Tie Rod End Control Arm Bushing
Front Front Outer
53541S7A003 51350S9A010
HO-20705 HO-20812
Control Arm Bushing Control Arm Bushing
Front Inner Rear Upper
51350S9A010 52400S9A980
CR-V il 2006-2011
|
HO-11424 HO-14420
—_— Ball Joint Stabilizer Link
Front Lower Front
51220STKA01 ~ L=318mm
51320STKAO1

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

22

info@parsrot.com



Rot sy

== Land HONDA
CR-V 2006-2011

HO-13423 HO-12421

Axial Joint Tie Rod End
Front Front
L=235.5mm/M14X1,5 53540SWAAO2
53010SWCG02
HO-11554 HO-11555
Ball Joint Ball Joint

Front Right Lower

Front Left Lower

51220SWAAOQ1 51230SWAAO01
HO-16428 HO-16429
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
Front Right Lower Front Left Lower
51350SWAE80 51360SWAES80
HO-16438 HO-16439
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
Front Right Lower Front Left Lower
51350T1GE11 51360T1GEO1
HO-16428N HO-16429N

Suspension Control Arm

Front Right Lower

Suspension Control Arm

Front Left Lower

51350SWAEO01 51360SWAEOQ1
HO-14426 HO-14427
Stabilizer Link Stabilizer Link
Rear Right Rear Left
L=85mm L=85mm
52320SWAAO01 52321SWAA01
CR-V
|
HO-14427 HO-13433
Stabilizer Link Axial Joint
Rear Left Front
L=85mm M14x1.5-L=256
52321SWAA01 53010TOAAO1

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

mw Land HONDA
CR-V v 2012-2018
|
HO-12431 HO-14426
— Tie Rod End Stabilizer Link P
Front Right Rear Right !
M14x1.5 L=85mm
53540T1GEO1 52320SWAA01
HO-12432 HO-16439
Tie Rod End Suspension Control Arm and Ball Joint
Assembly
Front Left
M14x1.5 Front Left Lower
53560T1GE01 ~ 51360T1GEO01
]
HO-16438 HO-14420
— Suspension Control Arm and Ball Joint Stabilizer Link
Assembly
Front
Front Right Lower L=318mm
51350T1GETT  51320STKAO1
|
HO-11424
Ball Joint
Front Lower
51220STKAO1
CR-V \'} 2018 after
|
HO-12432 HO-12431
Tie Rod End Tie Rod End
Front Left Front Right
M14x1.5 M14x1.5
53560T1GEO1 53540T1GEO1
CRX v 1987-1992
| |
HO-13206 HO-13204
Axial Joint Axial Joint
q—===u' Front Inner Front Inner %
M14x1,5-L=200mm M14x1,5-L=157mm
53010S10003 53521SH3003
| |
HO-12201 HO-12202
Tie Rod End Tie Rod End
‘ Front Right Front Left a
53540SH3013 53560SH3013

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

24

info@parsrot.com



—
sy L and

HONDA

1987-1992

!

[ =¥

ELEMENT

HO-16225 HO-16226

Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly

Front Right Upper Front Left Upper
Upper Upper

51540SH3020 51460SK7043

1st Gen

<

2003-2011

HO-14250 HO-14251
Stabilizer Link Stabilizer Link
Front Right Front Left
51320S5A003 51321S5A003

HO-12631
Tie Rod End
Front

53541S7A003

2nd Gen

2007-2013

HO-13283 HO-12281
Axial Joint Tie Rod End
Front Front Right
53010TF0003 53540TF0003

HO-12282 HO-14280
Tie Rod End Stabilizer Link
Front Left Front
53560TF0003 51320TF0003

3rd Gen

HO-14269 HO-14270
Stabilizer Link Stabilizer Link
Rear Right Rear Left

52320SNAAQT  L=75mm
52321SNAAO1

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

25

info@parsrot.com



Rot sy

== Land HONDA
FR-V 2005-2009
|
HO-14196 HO-14197
N\ Stabilizer Link Stabilizer Link A
’ ! Rear Right Rear Left !
52320SJF003 52321SJF003

1999-2006

HO-13533 HO-12531
Axial Joint Tie Rod End
Front Front
M12x1,25-L=310mm M12x1,25
53010S2HJ02 53540SX8T01
HO-11535 HO-14536
Ball Joint Stabilizer Link
Front Lower Front Right é é!
L=150mm 2
51320S2H003
HO-14537 HO-14538
Stabilizer Link Stabilizer Link
Front Left Rear Right ‘ ‘
L=150mm L=150mm
51321S2H003 52320S2H003
Stabilizer Link
Rear Left
L=150mm
52321S2H003
2nd Gen 2016 after
HO-13523 HO-12521
Axial Joint Tie Rod End "
Front Front Right
53010T7W003 53540T7J003
HO-12522 HO-14526
Tie Rod End Stabilizer Link
Front Left Front Right
53560T7J003 51320T7A003

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

= [and HONDA
HR-V 2nd Gen 2016 after
|
HO-14527 HO-11424
Pt Stabilizer Link Ball Joint A
: ! Front Left Front Lower !
51325T7A003 51220STKAO1
1983-1986
|
HO-12101
Tie Rod End
Front
M12x1,25Rht
53540679004
Il (GD) 2002-2008
|
HO-16507N HO-16506N

Suspension Control Arm

Front Left Lower

Suspension Control Arm

Front Right Lower

Front Left Lower

51360SELTO1 51350SELTO1
HO-16507 HO-16506
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly

Front Right Lower

Front Right Inner
M12x1,25Rht-L=211mm

53010SEL003

51360SELTO01 51350SELTO1
HO-11505 HO-12502
Ball Joint Tie Rod End
Front Lower Front Left
51220SELTO1 ~ M12x1.25Rht
53560SELTO1
HO-12501 HO-13504
Tie Rod End Axial Joint
Front Right Front Left Inner
M12x1,25Rht M12x1,25Rht-L=211mm
53540SELTO1 53011SEL003
HO-13503 HO-13500
Axial Joint Axial Joint

Front Left Inner
M12X1,25-L=208mm

53011SAAJO1

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

== Land HONDA
N V4 Il (GD) 2002-2008
HO-13510 HO-14516
Axial Joint Stabilizer Link
Front Right Inner Front Right
M12X1,25-L=211mm L=320mm
53010SAAJO1 51320SAETO1
HO-14517 HO-14518
Stabilizer Link Stabilizer Link
Front Left Front Right
L=320mm L=301Tmm
51321SAETO01 51320SELTO1
|
HO-14519 HO-20609
Stabilizer Link Control Arm Bushing
a b Front Left Front Outer
L=301mm  543605AAE0
51321SELTO1
HO-20610
Control Arm Bushing
Front Right Lower Inner
51360SAAE01
Il (GE) 2008-2014
HO-20782 HO-20783
Control Arm Bushing Control Arm Bushing
Right Left
51350TF0030 51360TF0030
HO-11284 HO-16288
Ball Joint Suspension Control Arm and Ball Joint
Assembly
Front Lower
Front Right
51350TF0030
51350TF0030
HO-16289 HO-14280
Suspension Control Arm and Ball Joint Stabilizer Link
Assembly
Front
Front Left
51320TF0003
51360TF0030

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



A
&Ilana' HONDA

JAZZ lll (GE) 2008-2014

HO-12282 HO-12281
Tie Rod End Tie Rod End
Front Left Front Right
53560TF0003 53540TF0003

|
HO-13283
Axial Joint
Front
53010TF0003
1st Gen 1995-1998

HO-12661 HO-16335

|
Tie Rod End Suspension Control Arm and Ball Joint =
Assembly
Front Outer
Front Right Upper
53540S0XA02
GSJ424
|

HO-16336

Suspension Control Arm and Ball Joint
Assembly

Front Left Upper
GSJ423

ODYSSEY 2nd Gen 1998-2004

HO-12661 HO-16154
Tie Rod End Ball Joint
Front Outer Front Lower

53540S0XA02 51360S0XA02*

ODYSSEY 3rd Gen 2005-2010

HO-19606 HO-19607

e Lateral Arm Lateral Arm
' Rear Right Upper Rear Left Upper
52390SHJA01 52400SHJA01

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 29 info@parsrot.com



Rot sy

= Land HONDA
(0]0) £51°12) 4 3rd Gen 2005-2010
HO-19614 HO-13603
Lateral Arm Axial Joint
Rear Lower Front Front
52345SHJA00 53010SHJA02
HO-12601 HO-12621
Tie Rod End Tie Rod End
Front Front Outer
53540SHJA51 53540SHJAO01
HO-16608 HO-16609
P Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
/ Assembly Assembly
Front Right Lower Front Left Lower
51350SHJA03 51360SHJA03
HO-14600
Stabilizer Link
Front
51320SHJA02
ODYSSEY 4th Gen 2011-2017
|
HO-14600 HO-19605
Stabilizer Link Lateral Arm
Front Rear Upper
51320SHJA02 52345TK8A00
HO-13613 HO-12612
Axial Joint Tie Rod End
Front Front
53010TK8A01 53540SJCAO01
HO-11615 HO-16618
Ball Joint Suspension Control Arm and Ball Joint

Front Lower

51360TK8A01

Assembly
Front Right Lower
51350TK4A01

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

= Land HONDA
ODYSSEY 4th Gen 2011-2017
HO-16619 HO-19607
Suspension Control Arm and Ball Joint Lateral Arm
Assembly
Rear Left Upper
Front Left Lower
52400SHJA01
51360TK4A01
HO-19606
Lateral Arm
Rear Right Upper
52390SHJA01
1st Gen 2003-2008
HO-19659 HO-19658
Lateral Arm Lateral Arm
Rear Left Rear Right
52400S3VA01 52390S3VAO01
HO-11645 HO-12642
Ball Joint Tie Rod End
Front Lower Front Left
51350S3VA10 ES3717
HO-12641 HO-13643
Tie Rod End Axial Joint
Front Right Front
ES3716 53010S9VA01
HO-14647 HO-14646
Stabilizer Link Stabilizer Link
Rear Left Rear Right
52325S3V023 52320S3V023
HO-16649 HO-16648
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly

Front Left Lower

51360S3VA10

Front Right Lower
51350S3VA10

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

== Land HONDA
1st Gen from 2006 2006-2014
AC-14100 AC-19105
Stabilizer Link Lateral Arm
Front Rear Lower
6513S0XA00 52345STXA01
HO-19628 AC-12101
Lateral Arm Tie Rod End
Rear Right Upper Front Right
52390STXAO01 53540STXA02
AC-12102 HO-19629
Tie Rod End Lateral Arm
Front Left Rear Left Upper
53560STXA02 52400STXA01
AC-14106 AC-14107
Stabilizer Link Stabilizer Link
Rear Right Rear Left
52320STXA02 52325STXA02
HO-13623 HO-16168
Axial Joint Suspension Control Arm and Ball Joint
Front Assembly
Front Right Lower
53010SZAA01
51350SZAA07
HO-16169 AC-20955

Suspension Control Arm and Ball Joint

Control Arm Bushing

Assembly
Rear Left Upper
Front Left Lower
52400STXAO01
51360SZAA07
PRELUDE VBB 1996-2001

HO-13263

Axial Joint

HO-12261

Tie Rod End

| |
# Front Front Right A
M14x1,5-L=128mm M14x1,5

53010SW5000 53540530005

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 32 info@parsrot.com



A
&Ilana' HONDA

PRELUDE VBB 1996-2001

HO-12262 RO-11304
Tie Rod End Ball Joint
Front Left Front Lower

M14x1,5 GSJ295
53560530005

>

HO-14260
Stabilizer Link
Rear
52320S30003

VI 2008-2012

AC-19114 AC-19115
Lateral Arm Lateral Arm
Rear Right Rear Left
52340TAOA00 52345TA0A00

M
7\
I“ ‘
i
F |
r

RIDGELINE 2006-2014
| |
HO-12612
— Tie Rod End
Front
53540SJCA01
S$2000 1999-2009

HO-14176

Stabilizer Link

Rear
52320SA003

STREAM RN 2000-2006

HO-14636 HO-14637
Stabilizer Link Stabilizer Link
Rear Right Rear Left
52320S7A003 52321S7A003

|
I“ ‘
|
¥y
> Y
|
I“ ‘
|
F |
r 4

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 33 info@parsrot.com



Rot sy

= [and HONDA
I —————————
STREAM RN 2000-2006
|

HO-12631

N\ Tie Rod End

g A Front

53541S7A003

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 34 info@parsrot.com






